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NEW QUESTION 1
Which three ways are SD-Access and ACI Fabric similar? (Choose three.)

. use of overlays

. use of Virtual Network IDs

. focus on user endpoints

. use of group policy

. use of Endpoint Groups

. use of Scalable Group Tags

mTmoOw>

Answer: ABC

NEW QUESTION 2
Which two options help you sell Cisco ISE? (Choose two.)

A. Downplaying the value of px Grid as compared to REST ful APIs
B. Explaining ISE support for 3rd party network devices

C. Show casing the entire ISE feature set

D. Referring to Trust Sec as being only supported on Cisco networks
E. Discussing (he importance of custom profiling

Answer: BC

NEW QUESTION 3
Which two activities should occur during an SE's demo process? (Choose two.)

A. determining whether the customer would like to drive deeper during a follow up

B. asking the customer to provide network drawings or white board the environment for you

C. identifying which capabilities require demonstration

D. leveraging a company such as Complete Communications to build a financial case.

E. highlighting opportunities that although not currently within scope would result in lower operational costs and complexity

Answer: CE

NEW QUESTION 4
Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and unifies all control plane functions under a
single: protocol umbrellal?

A. BGP
B. OSPF
C. IKE
D. VRRP

Answer: D

NEW QUESTION 5
What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE for longer than a few weeks?

A. Give then, some of our flash files mat can be played on any browser
B. Set them up with an account on a Cisco UCS server that hosts ISE
C. Set them up with a d Cloud account

D. Give them our ISE YouTube videos

E. Provide them with a downloadable POV kit

F. Provide them to our d Cloud demo library

Answer: C

NEW QUESTION 6
Which three options focus of the current digital business era'? (Choose three.)

. loT scale

. connectivity

. virtualized services

. automation

. centralized enterprise and web applications
. Human scale

TmooOm>

Answer: ACD

NEW QUESTION 7

What are the three foundational elements required for the new operational paradigm'? (Choose three.)
A. centralization

B. assurance
C. application QoS
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D. multiple technologies at multiple OSI layers
E. policy based automated provisioning of network of
F. fabric

Answer: BEF

NEW QUESTION 8

Which are two advantages of a "one switch at a time' approach to integrating SD-Access into an existing brownfield environment? (Choose two.)

A. appropriate for campus and remote site environments

B. allows simplified testing prior to cutover

C. deal for protecting recent investments while upgrading legacy hardware
D. involves the least risk of all approaches

E. opens up many new design and deployment opportunities

F. allows simplified roll back

Answer: AC

NEW QUESTION 9
What statement is true regarding the current time in Enterprise Networking history?

A. advent of cloud computing

B. pace of change

C. pervasive use of mobile devices
D. advent of loT

Answer: B

NEW QUESTION 10

How would cisco ISE handle authentication for your printer that does not have a supplicant?
A. ISE would not authenticate the printer as printers are not subject to ISE authentication.
B. ISE would authenticate the printer using 8.2.1X authentication

C. ISE would authenticate the printer using MAB.

D. ISE would authenticate the printer using web authentication.

E. ISE would authenticate the printer using MAC RADIUS authentication

Answer: C

NEW QUESTION 10

Which two statements regarding Cisco SD WAN vEdge routers can mitigate DoS attacks against the infrastructure? (Choose two)

A. Open Certificate Authority and automated enrollment feature
B. By default, all incoming traffic is denied art the transport (WAN) side interfaces,

C. Only authorized controllers are allowed to communicate back to the vEdge router after the vEdge router establishes connections with the controllers

D. In case of direct Internet access, the only traffic allowed back is the traffic matching the state table entries on the vEdge router.

E. The vEdge routers run on hardened Linux operating systems

Answer: CE

NEW QUESTION 12
Which feature is supported on the Cisco vEdge platform?

A. single sign on

B. IPv6 transport (WAN)
C. 2-factor authentication
D. license enforcement

E. reporting

F. non-Ethernet interfaces

Answer: B

NEW QUESTION 16
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